
TEKNOBILI
LIKID 113 SINK MIXER
 

SPECIFICATIONS
Recommended use Domestic, hotel and commercial

Colour availability Chrome

Pressure rating Maximum continuous operating pressure 1000 kPa. 

Note: For best performance and longer life we 
recommend 150-500 kPa. 

Temperature rating Maximum continuous working temperature 80°

Suitable Hot Water Units Storage tank: Yes 
Continuous Flow: Yes 
Gravity Feed: Not recommended

WELS Stars: 4  
Flow rate: 7.5 L/Min

Standards AS/NZS 3718

CLEANING RECOMMENDATIONS
This product should not be cleaned with abrasive materials. 
Damage caused by any improper treatment is not covered by the 
product warranty- refer to Warranty Conditions on the last page.

To see the complete Teknobili range go to  
www.reece.com.au/bathrooms

1/2

page 1 of 4

Disclaimer: Products in this specification manual must by regulation be installed by licensed and registered 
trade people. The manufacturer/distributor reserves the right to vary specifications or delete models from 
their range without prior notification. Dimensions are nominal measurements only.  Dimensions and set-outs 
listed are correct at time of publication however the manufacturer/distributor takes no responsibility for 
printing errors.  

Tech Page Version 1

WMK
A1400

The more 
stars the more 
water efficient

WATER RATING
www.waterrating.gov.au

In accordance with AS/NZS 6400

Licence No. 0061
Nobili Rubinetterie

7.5 litres per 
minute



TEKNOBILI
LIKID 113 SINK MIXER
 

INSTALLATION INSTRUCTIONS 

Important Note
Mixer must be installed to the requirements of AS/NZS 3500 by a qualified plumber.  Your mixer comes to you already factory 
assembled and tested. We do not recommend the dismantling of any internal part of the mixer. The mixers are factory tested and 
sealed so as to give the best performance.

SERVICING-REPLACEMENT OF CARTRIDGE 

1 2 3 4

9

+
Not included

OFF

!

ON

15 s

A

A2

A1

B

!

5

C

C1

C2

C3

C4

max 
35 mm

6

ON

D

25°ON

E

E
HOT

COLD

7 8

F

CLEANING

WATER ALCOOL

1

1

2

3
4

5

6

7
NEW

?
2

KIT

not included

page 2 of 4

Plumbers, please ensure a copy of the installation 
instructions is left with the end user for future reference



18

17

16

15

14

13

12

11

9

5 24
4

22

25

26

27

3

281

6

29
7

10

21

20

19

8

23
2

29 01927/D-- Flex MOK M10x1  MM360 G 3/8  FGI-SPX-DN6 2 ---
28 00783/000 Dado M8 CH12 per tirante 1 OT CW614N (Barra)

27 11009/000 Ferro di cavallo 1 OT CW617N 
(Stampato)

26 01253/--- Guarnizione sagomata per ferro di cavallo 1 NBR

25 00763/--- Tirante M8x65 monocomando lavabo - bidet - lavello 1 OT CW614N (Barra)
24 01716/000 Piastra di fissaggio lavello 1 PP 30 FV 

+1%BIANCO
23 01210/000 Guarnizione in gomma 42.8x32.2x1.5 1 NBR
22 67022/000 Vite M5x8 bombata esagono incassato 2.5 (likid) 1 OT CW614N (Barra)
21 53011/000 Chiave di montaggio per Aeratore Neoperl cachè M16.5x1 TT 1 PLASTICA
20 01488/000 Aeratore Neoperl cachè M16.5x1  TT-V 1

19 67006/000 Canna lavello a U 1 OT63  
18 67002/000 Anello frizione tra camicia e supporto o canna 1 PTFE
17 67007/000 Niplex M12x1- G3/8" per canna lavello Likid 1 OT CW614N (Barra)

16 46021/000 Or 9.25x1.78 70Sh 1 NBR Sh70
15 67004/000 Camicia corpo lavello 1 OT63  
14 67003/000 Bussola per bloccaggio camicia e supporto o canna 1 PTFE

13 67008/000 Bussola di connessione lavello Likid 1 OT CW614N (Barra)
12 01336/000 Or 18x2 sh70 2 NBR sh70
11 67024/000 Anello di registro 1 HOSTAFORM C9021

10 67019/000 Anello Hot e Cold 1 POM
9 67001/000 Anello di base   in POM 1 POM
8 51020/000 Ghiera di fissaggio cartuccia 1 OT CW614N (Barra)

7 46000/N-- Assieme  cartuccia assiale "NUOVA" 1
6 67005/000 Corpo lavello 1 OT CW614N (Barra)
5 67011/000 Perno di fissaggio asta ad L 1 INOX

4 01300/000 Or 2.90x1.78 1 NBR sh70
3 67012/000 Asta ad L per impugnatura 1 ZAMA UNI 3717
2 82710/000 Grano a punta M5x25  UNI 5927-67 1 AISI 304
1 67013/000 Impugnatura lavello LIKID 1 OT CW614N (Barra)

Pos. Codice Descrizione Q. tà Materiale Costo
INDICE DI REVISIONE

02/02/2012

DATA
31/05/2005

DISEGNATO
G. Galante

DATA

APPROVATO
M. Neri

LIQU00113/---
CODICE N°

PESO (g)

 
DENOMINAZIONE

 
Miscelatore monocomando
lavello cucina canna
girevole cartuccia assiale
serie LIKID

 

Q
ue

st
o 

di
se

gn
o 

e 
di

 e
sc

lu
siv

a 
pr

op
rie

ta
 d

el
la

 d
itt

a 
C

A
RL

O
 N

O
BI

LI 
S.

p.
A

. R
UB

IN
ET

TE
RI

E 
- l

a 
qu

al
e 

ne
 v

ie
ta

 la
 ri

pr
od

uz
io

ne
,a

nc
he

 p
ar

zia
le

 se
 n

on
 su

 n
os

tra
 a

ut
or

izz
az

io
ne

 sc
rit

ta

A3o

EXPLODED VIEW

Item	 Description			 

1-3		  Handle Complete		
4			   O Ring
5			   Fixing Pin
6			   Mixer Body
7			   Cartridge		
8			   Cartridge Locking Pin
9			   Base Ring
10			  Hot and Cold Ring
11			  Adjusting Ring
12			  O Rings
13			  Socket Connection
14			  Locking Sleeve
15			  Mixer Body
16			  O Ring
17			  Outlet Connection Assembly
18			  Friction Ring
19			  Spout
20			  Aerator
21			  Aerator Key
22			  Socket Screw
23			  Rubber Gasket
24			  Stabalising Plate
25			  Fixing Rod
26			  Rubber Gasket
27			  Horse Shoe Plate
28			  Hex Nut
29			  Flexible Hoses

TEKNOBILI
LIKID 113 SINK MIXER
 

page 3 of 4



REECE PRODUCT QUALITY GUARANTEE
You have purchased a quality product from Reece Pty Ltd 
ABN 84 004 097 090 (“Reece”). This product is covered by 
a 15 year replacement product warranty and a 12 month 
warranty over spare parts and labour.

15 YEAR WARRANTY – DOMESTIC USE
This warranty covers faults in the product construction, material 
and assembly. Products which are within 15 years from the 
date of purchase, found upon inspection by an authorised 
Reece representative, to be defective in construction, material 
or assembly, will be repaired or exchanged with an equivalent 
product free of charge. Replaced items become Reece’s 
property. This warranty also covers any spare parts included 
under “Manufacturer’s Provisions” below.

All replacement products will be available for collection without 
charge to the customer at the nearest Reece branch to the 
customer’s location, or elsewhere as agreed between the 
customer and Reece.

Manufacturer’s Provisions
The following spare parts are covered by the full 15 year 
warranty of the product:

• Mixer Cartridge

Labour and Spare Parts
The labour for the replacement of products and spare parts 
to which this warranty applies will be supplied by Reece or 
relevant supplier using licensed plumbers engaged by Reece or 
relevant supplier within 1 year from the date of purchase.

Spare parts other than those listed in the Manufacturer’s 
Provisions above, which are within 1 year from the date of 
purchase found upon inspection by an authorised Reece 
representative to be defective in construction, material or 
assembly, will be replaced free of charge.

Warranty Conditions
This warranty will apply only under all of the 
following conditions:

• The item has been installed by a licensed plumber

• The item has been installed for and subjected to domestic 
residential use only

• Failure is due to a fault in the manufacture of the product

• Proof of purchase (including the date of purchase) 
is provided

• The installation of the product is in accordance with the 
instructions provided

This warranty does not cover products purchased as an 
ex-display without being fully checked and tested for sale by 
the manufacturer.

This warranty does not include faults caused by:

• Unsuitable or improper use

• Incorrect installation or installation not in accordance with 
the instructions provided

• Installation or part installation by the purchaser or any person 
other than a LICENSED PLUMBER

• Normal wear and tear

• Inadequate or complete lack of maintenance

• Chemical, electrochemical or electrical influences

• Harsh detergents or abrasive cleaners used on 
product finishes

1 YEAR WARRANTY – COMMERCIAL USE
‘Commercial’ use is all use other than for normal domestic 
residential purposes, including use in non-business places as in 
public buildings, schools, sports centres and in establishments 
that contain private bathrooms with high frequency of use by 
many individuals, such as hotels, motels, retirement villages 
and hospitals.

The Commercial warranty covers this product against 
manufacturing faults in the construction, material and assembly 
of both the finished products and any spare parts for a period 
of 1 year from the date of purchase. Products and spare 
parts which are found upon inspection by an authorised 
Reece representative to be defective in construction, material 
or assembly will be repaired or exchanged free of charge. 
Replaced items become Reece’s property. The labour for the 
replacement of products and spare parts to which this warranty 
applies will be supplied by Reece or relevant supplier using 
licensed plumbers engaged by Reece or relevant supplier. 
The Warranty Conditions and exclusions which apply to the 
domestic use warranty also apply to this commercial warranty.

EXCLUSIONS
To the fullest extent permitted by law, Reece excludes all liability 
for damage or injury to any person, damage to any property, 
and any indirect consequential or other loss or damage.

CLAIM PROCEDURE
For all warranty queries customers are to contact the branch 
where the product was purchased. These details can be found 
on your purchase invoice.

Our goods come with guarantees that cannot be excluded 
under the Australian Consumer Law. You are entitled 
to a replacement or refund for a major failure and for 
compensation for any other reasonably foreseeable loss or 
damage. You are also entitled to have the goods repaired or 
replaced if the goods fail to be of acceptable quality and the 
failure does not amount to a major failure.

TA
P.

T2
.1

5Y
R

Don’t risk it, use a licensed plumber.™

15
YEARQ

U

ALITY GUARANTE
E

page 4 of 4

TEKNOBILI
LIKID 113 SINK MIXER
 


